TESTBOOKLET-2015
(aha-qReT-208w)

BlMBS | Test Booklet No.

wham-gfemt wE 18277

(This Test Booklet contains UNATTACHED OMR Answer-sheet inside.) TIME : 1 Hour 30 Minutes
(G THA-GRAET ¥ AT IR .0, IR, -0 TG 1) wm 1w fee

Subject :

No. of Questions : 100

Subfect:™BIOLOGY | = 100

l.

3.

Candidate’s Name : ........................................... ..'....Q.........’.'; ..... . .......... *00C8000000
(aiareft ot =) |

Candidate’s Full Sig. : oot AR AR RRR R SRER cressenensasansaenas
(ﬁmﬁwwm | :

Roll No. (Fill in digits and words as shoﬁ in the Example) :

v =i, [3amerer (Rrivreiem 2) ¥ framy T2 SITAT A e T Y sient e vt o Wi

Em. Cmm : --fo.oo oooooooooo ia"‘i'fooooof ------- eenesese 9sssesessecsssene sossesescsce o oooooooooooooo

.. Exam Centre Code

INSTRUCTIONS TO CANDIDATES

‘(A) General (WFTr) : .
1.

This Booklet contains 16 Pages (apart from the OMR' answes-sheet). As soon as the booklet is distributed,
Examinees are directed to confirm the number of pages, legibility of printing etc. They must also confirm that the
Bar Code is printed:in such-a way that its ore portion is printed on part-I of the answer-sheet and the remaining
portion is printed on part-H of the answer-sheet. No complaints will be entertained for exchange of booklet later
than 10'minutes after distribution. ‘ .

T TR gRe ¥ . AR, SR b AR 16 75 ¥ 1R & 7 e fyafa o § 39 & v vl
= o e ar T ys e ol o o g Al B wEe i | e W B qe o g w0
A1 el e TR I AR e 79 T B ¥ i g U e Fe-wen & -l W SR e e seewrs
F I WO | T3 & 5w fire ¥ o aden-gRee # wse & o i et el it @ st |

III”"IW”I““II“"I“H' : Continued on the back cover page.
a 2015 o . (13 ¥ v yE w3 1)




Roll No. should be written in digits as well as in words in the appropriate Box provided at serial-3 above on the
upper portion of the front cover page of this Test Booklet as per the example given below :

qﬁmgﬁaw%gaw%mﬁm%msﬁmﬁwﬁamﬁﬁﬁﬁﬁmtwﬂawﬁ
e T vt # fere ¥

* Example (3%T8701) : Roll No. @) : 179682

Mz o |~
ZE<mw|a
Bz ~Z e
Moo= |
= e e
O_VSI-J‘N

Each Question is of four marks, which will be awarded for the correct answer. For each incorrect answer one mark
will be deducted from the total marks obtained. Zero mark will be given for Questions not answered. More than
one Answer indicated against a Question will be declared as incorrect Answer.

el s 3 ok e i P o et e 3 ok e ST+ st o e 3 e e o e e
A i o s | o e o S et e TR s e e st e s mﬁww%fm}wﬁaﬁm‘
I e st it 37 el 3w we & R e SR T SR |

Use of Calculator/Slide Rule/Log Table/Graph Paper/Charts or any electronic gadget eg. Mobile Phone etc., is not
allowed.

mmmmmmmmh@m%mmwmmmmm
IR

If there is any difference between Enghsh version and the corresponding translated version in Hindi of any
question, then the English version will be treated as authentic.

a&aﬁﬁﬁq&a%ﬁmaﬁﬁﬁmﬁﬁ%ﬁmﬁﬁaﬁ#ﬁq&amﬁmm |

Any candidate attempting or using unfair means or copying or detaching any page of question booklet or marking
the answer on the question booklet will be expelled and his candidature will be rejected.

R o el e e, TR T TR, wﬂmqﬂaﬁrwwmwﬂwwmwma}sﬂm

¥ Fremfire ¢ T s aﬁrmmmwﬁaﬁvﬁ |
Candidates must also follow the i instructions, which may be given by the Centre Superintendent from time to time.

‘ mh%mmwwwﬁ&n&ﬁiﬁwﬁhﬂmﬁﬁﬁWWM|

- (B)

ADDITIONAL BOOKLET/ANSWER-SHEET WILL NOT BE PROVIDED UNDER ANY CIRCUMSTANCES
'OTHER THAN THAT MENTIONED IN 1 ABOVE,

w9 1 % st wi-qRers T Se-mr & afifee oen & i o Than-ghee sk seR-ua Re o aRfefy
o =3¢t e s '

CANDIDATES MUST SUBMIT THE WHOLE BOOKLET ALONG WITH THE OMR ANSWER-SHEET AT
THE END OF EXAMINATION.

wﬂmﬂwﬁwwm%mq&nﬁm%wmﬁ%u

Process for Filling up Part-I of Answer-Sheet (30¢-T%% -1 v wiea) :
ANSWER-SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER.
I G mm%ﬁﬁmﬁmmwm% P

Continued on the inside of the back cover page.
2 , (ﬁ&%m%w%ngéﬁl)



Space For Rough Work / % % & f1g se

BIMBS . 3




10.

11.

BIOLOGY

Which one is called walking fern ?
(A) Lycopodium (B) Pteridium
(C) Adiantum (D) Equisetum
Which one is calyciflorae ?

(A) Rosales (B) Olacales
(C) Sapindales (D) Ranales

Which one is not a free hvmg

protozoa ?
(A) Amoeba (B) Euglena
(C) Giardia (D) Noctiluca

Which one is a holophytic protozoa ?

(A) Euglena (B) Amoeba
(C) Monocystis (D) Giardia

What is the range of length of
sponges ?

(A) 1mm- 10 mm

(B) 1cm -1 metre

(C) 1 mm - 100 mm

(D) 1 metre — 10 metre

Potorion is an example of .

(A) Protozoa (B) Porifera
(C) Cnidaria (D) Ctenophora
This is not a Cnidarian :

(A) Obelia (B) Jelly fish
(C) Sea anemone (D) Beroe

‘Which one is also called Hookworm ?
(A) Ancylostoma (B) Enterobius
(C) Rhabditis (D) Ascaris

Phylum Annelida includes over :

‘(A) 15,000 spec1es
~(B) 9,000 species

(C) 60,000 species
(D) 9,00,000 species

Among these oxygenation of blood
occurs through moist skins :

(A) Earthworm (B) Octopus
(C) Squid (D) Doris

This has mouth on the lower side and

anus on the upper side :
(A) Limulus - (B) Buthus
(C) Daphnia (D) Sea urchin

12.

13.

14.

15.

~ 16.

17.

18.

19.

(0) CsCI

This is also known as flying fish :

(A) Scoliodon (B) Exocoetus
(C) Pristis (D) Trygon
This is not a freshwater fish :

(A) Pomfret ~ (B) Kalbasu

(C) Rohu (D) Catla '
The number of digits in the limb used
for walking by reptiles are :

@A) 4 ®) 2

© 5 D) 6

The number of pairs of cranial nerves
in birds are : ‘

(A) 6 B) 10
- (©) 12 D) 4
Who has opposable thunib ?
(A) Platypus (B) Kangaroo
(C) Mole (D) Lemur

This has wholly or partly lost the
ability to fly : ’
(A) Emu
(C) Crane

(B) Owl
(D) Swan

What kind of microscopy uses
acridine orange ?

(A) Phase contrast

(B) Fluoroscence

(C) Transmission electron

D) Scanning electron

In order to sediment free nbosomes,

centrifugation reqmres :
(A) 3,00000g (B) 50,000g
© 12,000g (D) 800¢g

The following is generally used for
creating density gradient during
centrifugation : :
(A) NaCl (B) KC!

(D) MgCl,

B1MBS
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21.

23.

26.

27.

29.

(A) Chaprones

This technique separates proteins
according to their molecular weights :
(A) PAGE

(B) Affinity chromatography

(C) Ion-exchange chromatography
D) Gel filtration

Wmch enzyme can hydrolyse
peptidoglycans ? .

(A) Amylase (B) Lipase

(C) Trypsin (D) Lysozyme

Which part of the cell can contain
N-acetyl glucosamine ?

(A) Cell envelope (B) Cell wall
(C) Nucleus (D) Ribosomes

These can be surrounded by a single
layer membrane :

(A) Sulfur granules

(B) Glycogen granules -

(C) Phosphate granules

(D) Cyanophycean granules -

How many basal body rings are
present in gram positive cells ?

(A) 3 B2

©) 4 D) 5

The filament in ﬂagellum can rotate by :
(A) 360°
©) 120°

These type of vacuoles contain
hydrolases :

(A) Sap - (B) Contractile
(C) Food D) Air
Which contains cristae ?
(A) Nucleus (B) Chloroplasts

(C) Ribosomes (D) Mitochondria

Proteins which help other proteins to
fold properly are called :

B) Actins

(C) Porins (D) Synthases
Pectic polysaccharides are present in :
(A) Cytoskeleton

(B) Plasma membrane

(C) Primary cell wall

(D) Tertiary cell wall

31.

32.

33,

35.

- 37,

38.

39.

In idiogram, chromosomes ' of an

- organism are arranged accordmg to

their :

(A) Increasing size

(B) Decreasing size

(C) Position of centromere

D Number of the chromosomes

Flow cytometry allows detection of.
differences in length of nucleic acids
as small as about : i
(B) 15 Mbp

(A) 1.5Mbp
(C) 25 Mbp (D) 100 Mbp
Mo is a part of this enzyme :

(A) Reverse transcriptase-
(B) Restriction endonuclease
(C) Hexokinase

(D) Nitrogenase

The linkage in d1sacchandes is:

(A) ether
(B) ester

(C) amide

(D) phosphodiester
This is a wax : '
(A) Palmitic acid

(B) Ethyl Palmitate
(C) Hexacosyl Palmitate
(D) Sodium Stearate

Not all proteins have a :
(A) Primary structure

(B) Secondary structure

(C) Tertiary structure -
(D) Quaternary structure
A tnpeptlde contains : .
(A) 3aminoacids (B) 4 amino acids
(C) 6aminoacids (D) 2amino acids

How many phosphodiester bonds are
there in ATP ?

A) 3 B) 2

©O1 Do

What i 1s the pH optimum of Pepsm ?
(A) ~ B) ~

©€) ~ 6 ®) ~ 8

Which has a stracture like clover leaf ?
(A) DNA (B) mRNA
(C) tRNA (D) IRNA
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41.

42.

47.

49.

- (C) Wheat

* Which one of these antibiotics is not

produced by a streptomyces ?
(A) Bacitracin

(B) Chloromycetin

(C) Nystatin

(D) Aureomycin

Figisa: ‘

(A) Sorosis | (B) Syconus

(C) Drupe (D).Berry

The number of stomatal pores per |

cm? of the leaf surface are in the
range of : -
(A) 1000-60,000 (B) 10-1000
(C) 50,000-1,00,000(D) 50-100

Which ion plays the most important
role in stomatal opening ?

A) Cr (B) H*

©€) K* (D) Na*

During symbiotic nitrogen fixation,
how many moles of ATP are used in

fixing one mole of N, ?
A) 8 ®) 16
© 5 D) 10

In reductive amination, the product is :
(A) o-ketoglutaric acid

(B) Glutamine

(©) Glutamate

(D) Alanine

Photo-respiration ~ requires  this
activity by an enzyme :

(A) Hydrolase (B) Oxygenase
(C) Carboxylase (D) ATPase

This is not a C; plant :

(A) Amaranth (B) Rice

(D) Potato

Which one has the lowest respiratory
quotient ? : :
(A) Glucose (B) Tripalmitin
(C) Oxalicacid (D) Malic acid

50.

51.

52.

53,

55.

57.

58.

59.

(O PEP

‘nutrition :
- (A) Saprozoic

- (C) Pancreas
56. '

_(A) .acinar cells

©’ Gastrin

Which is the first compound which is
common for both glucose & fructose
in glycolysis ?

(A) Fructose-6-phosphate

(B) Glucose-6-phosphate.

(C) Fructose-1,6-bisphosphate

(D) Fructose-1-phosphate

Which molecule links glycolysis with
fermentation as well as TCA cycle ?
(A) Ethanol (B) Acetaldehyde

(D) Pyruvic acid
Housefly show the following kind of
(B) Parasitic
(C) Holozoic (D) Symbiotic
It efnploys both intracellular and

extracellular digestion :
(A) Hydra (B) Aurelia
(C) Amoeba (D) Planaria
The alimentary canal in humans has
length of : ‘ ’
(A) 6-9 metres (B) 2-5 metres
(C) 10-28 metres (D) 1-2 metres
This is a storing organ :
(A) Gall bladder (B) Liver

(D) Colon

The cells of the pancreas secreting
pancreatic juice are :.
(B) goblet cells

(C) pepticcells (D) oxyntic cells

The hormone responsible for vagus
nerve activity is : ’
(A) CCK (B) Secretin
(D) GIP

How many spiracles are present in
thorax in cockroaches ?

(A) 10 (B) 2
() 8 (D) 6
ERV + RV =7 for lungs : "
(A) FRC (B) VC
(©) IRV (D) TV
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62.

63.

65.

6.

69.

70.

_(C) Lymphocyte

What % of CO, is transported as

HbCO, ?
. (A) 42 (B) 23
(C) 70 (D) 50

Which one is an allergic disease ?
(A) Bronchitis :
(B) Bronchial Asthama

(C) Emphysema

(D) Pneumonia

These are mainly responsible for
protection against infection :

(A) Neutrophils (B) Eosinophils

(C) Basophiles (D)  Thrombocytes
The cells contained in the lymph are
mostly :

(A) Thrombocytes (B) Basophils
(D) Neutrophils

Birds excrete nitrogenous waste as :

(A) Uric acid . (B) Urea

(C) NH, (D) Guanine
Atrial natriuretic factor is released by :
(A) Heart (B) Brain

(©) Kidney (D) Pancreas
The monomeric actin is called :
(A) F-actin " (B) M-actin
(C) G-actin (D) N-actin
Red Muscle has :

(A) More mitochondria

(B) Less mitochondria

(C) More sarcoplasmic reticulum
(D) Less blood capillaries

How many types of synovial joints
are there ?

A 4 (®) 3

© 2 D5

- This is diagnosed by the presence of
atype of IgM :

(A) Osteoporesis

(B) Gout

(C) Osteoarthritis
D) Rh‘eumatoid arthritis

The latitudes for the temperate
(A) 40°-60°  (B) 0°-20°
-40° (D) 60°-80°

©) 20°

zoncare

10

1.

72.

73.

In an average s011 the % of orgamc
matter is about :

- (A) 20 (B) 30
() 45 ® 5
This is an example of rooted
hydrophyte :
(A) Nymphaea (B) Wolffia
(C) Salvinia D) Hydrilla
This is an example of animals whlch
do periodic migration :
(A) Arctic tern (B) Ekk
(C) Whale (D) Locust

74,

75 .

76.

71.

78.

79.

Which stage comes first in Xerarch
succession ?

(A) Lichenmoss (B) Annual herb

(C) Perennial herb (D) Scrub

Which group has the highest number
of species among these ?

(A) Algae (B) Fungi
(C) Fish (D) Reptiles
It is a stimulant : - ‘ |
(A) novacaine (B) opium
(C) valium (D) mescalin
Flooding of the field controls :
(A) Fungi ~ (B) Bacteria
(C) Viruses (D) Nematode

During hardening, plantlets are kept
under :

(A) reduced light & high humidity

(B) increased light & high humidity
(O) reduced light & low humidity

- (D). increased light & low humidity

Fruit softening is promoted by :
(A) Cry protein

(B) Hirudin

(C) Polygalacturonase

(D) Amylase '

How many classes of immuno-

. globulin are there in humans ?

A3
© S5 -

B) 4
D) 6
 BIMBS
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81.

82.

~ 85.

86.

87.

89.

‘Reverse transcriptase is :

(A) RNA dependent RNA polymerase
(B) DNA dependent RNA polymerase
(C) DNA dependent DNA polymerase
(D) RNA. dependent DNA polymerase

In vedic times, living organisms were
classified into following number of
classes :

(A) 2 B) 3

© 4 D) 5

Anthrax is caused by :

(A) virus

(B) bacteria

(C) fungus |

(D) chemical compounds

Who gave the nomenclature
according to which humans are -
called Homo sapiens ?

(A) Darwin (B) Mendel

(C) Aristotle (D) Linnaeus

In amniocentesis, the following is
examined :

(A) amino acids
(C) skin cells

(B) membrane
(D) sex organs

98% of all living organisms is made

up of just following number of
elements :

(A) 25 B) 6

(©) 50 (D) 100
Prostaglandins are modified forms of
(A) Aminoacids (B) Nucleotides
(O Fatyacids (D) Disaccharides
Night flowers are mostly :

(A) White (B) Green

(C) Red (D). Blue .

In Miller’s experiment, the follbwing
was not the part of starting chemicals :

(A) H,S (B) H,

(C) NH, (D) CH, ’
Which was the first catalytic
molecule during evolution of life ?
(A) DNA (B) rRNA

(C) (RNA

(D) mRNA
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91.

Th1s is an example of analogous
organs :

- (A) brains of fish & humans

92.

93.

95.

96.

98.

100.

"(C) Poales

(B) thorns and tendrils in plants
(C) wings of birds & butterflies
(D) forelimbs of frogs and horse

This is not an example of vestigial

organ in "humans :
(A) external ear .
(B) reduced tailbone
(C) wisdom teeth

(D) intestine

This is believed to have evolved in
Cenozoic period :

(A) bryophytes  (B) ferns

(C) conifers - (D) cycads

Which is highest in the hierarchy of
taxonomic category ?

(A) Genus (B) Family
(C) Order (D) Class
‘What is the order of Tulsi ?

(A) Lamiaceae = (B) Lamiales

(D) Sapindales

Chitin is a/an :

(A) Amino acid

(B) Polysaccharide .
(C) Protein

D) Ohgosacchande

,Rust isa:

(A) Bas1dorriyoete (B) Ascomycete
(C) Phycomycete (D) Slime mould

Which is not a Bryophyta ?
(A) Hepaticopsida

(B) Anthocerotopsida

(C) Bryopsida -

(D) Lycopsida.

This provides brown colour to the
algae :

(A) Chlorophylla (B) Phycocyanin
(C) Fucoxanthin (D) Chlorophyll b

Which one is a red algae ? _
(A) Gelidium (B) Chlorella
(C) Volvox (D) Ulothrix

BIMBS
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82. AR Her o Sl & fea ant # fiERor
T :
A 2 B) 3
© 4 D) 5
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S WendEame
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(C) .NH; . (D) CH,
90. it % Ry J wewa SeRE® o] BT 1
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(A) DNA (B) rRNA
(©) RNA (D) mRNA
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(C) DNA W fnft DNA uiefaist

(D) RNA u_rﬁﬁrDNAw“whnh
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2.

Roll No., Examination Centre and its Code and Test Booklet No. shouid be written on the Part-I of the Answer
Sheet in Computerised format. The Digits should be written in topmost boxes in Blue / Black ball point pen and the

~ circles corresponding to the digits be blackened with Blue / Biack ball point pen only.

IACTE & Wl & Fite Wl W e R / wlien % W we / wer-giers B de A B IR-Tw W

Y- WRRT & WY | SR & ek wr mmwmﬂ#&/mwﬁﬁﬁsﬂrwﬁuﬂﬁﬁﬁ '

foks fisht / weft A Rz O @ WX |

- Example:  IfRoll No. is 179682 ' ~ and * the Question Booklet No. is 14390, then

R WA 19682k 0w we-qfer TE 14390 ¥, @t
1[7]o]s(8]2 | 1[4]3]9]0
JEIEREEIE QEEEE
olo|o|o|o|e olojo|e|o|
Lelieleltellelte; P|0|0]|0|®
00|0|0|0|O PO|P|O|®
O|e|e|6|6|6 ejlo|e|e|e
ClOo|I0|0|e|e |OIO|@|0|G
0|0|0|0]|0|0 |eleljelo|o
o|o|le|e|e|e o|o|e|o|e|
oloje|e|o|® ololo|e|e
ole|o|e|ele e

©

Process for Filling up OMR Answer-Sheet (Swe-uss urs-IT ) weat wt ) : »
The questions are multiple choice type. Each question is provided with a number of choices of Answers, out of
which ONLY ONE is MOST APPROPRIATE. The candidate myst blacken the appropriate circle provided in front

- of the question number, using Blue / Black Ball Point Pen only. If a candidate uses the pencﬂ fordarkcmng the
- circles on the answer-sheet his/her answer-sheet will be rejected.

e ag-frmeq e ¥ .mm%m&awmmﬁamwﬁmm% mﬁmﬁm‘tm
e ¥ s Suge faerea & At ¥ Wb et @t el / el s a3 ¥ & o b | o o el -
T U | T ¥ A S SO W R s | '

Example: If correct answer for questlon no. 7.is the choice ‘B’ then darken the clrcle in front of questionno. 7 as -

shown below :

- uﬁ:mm7%fmﬁw‘B’aﬁﬁ%ﬁmﬁm7%vﬁ%mmﬁaﬂaﬁf@ﬁm}m

2.

Ryt E

Ml @EOO
ake2 ®OOO

IR TR [ 3 L]
Q.No.7. . ® 0 @
(@) The cncles, as described in C-1 above, are to be darkened by usmg Blae / Black Ball Point Pen only

(%) IWE w7 C-1 ﬁm&nﬁmtﬂﬁaﬁﬁvﬁlwﬂiﬁumhmﬁm% I
(b) The shadmg should be dark and should completely fill the circle.
@) ﬁﬁﬁwﬁwﬁwuwﬁmaﬁql

Continued on the next page.
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(c) Only one circle corresponding to the correct answer should be darkened as shown below :
@m aﬁwﬁmﬁwﬁﬁa@ﬁrﬁﬁaﬁmmaﬁqﬁmﬁ%mw%

Correct / Wt @000 :
Incorrect / T @..@ °f®®©@ r @O0 - O®OO
Incorrect/ 70 A @ PO o OO OO o @.@@ o @O

(d) The candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropriate circle using Blue/Black ball points pen as no change in answer once marked is allowed. Use of
eraser or white / correction fluid on the answer-sheet is not penmss1ble as the answer-sheets are machine
gradable and it may lead to wrong evaluation.

() e ik <t / el e e e A G R vk ol i e R @ o 6 A 3w R

Faifies T8 et = T1 @ & v et Bt O § i U SO aE € | ST O R e e
e 79 @ e & ol i D g, aﬁﬁswwﬁwﬁwmwﬁahm%@rﬁmmﬁw

e A I & T ¢ |

(e) If more than one circle is darkened using Blue / Black ball point pen or if the response is marked in any other
manner or as shown in “Incorrect method” above, it shall be treated as wrong way of marking.

(®) ww mw&%/mmwaﬂnﬁwmmwﬁwﬁ A VER Y YA FRRERA TR

e aﬁﬁﬁmmm?ﬁaﬁmwﬁmm|

.- Rough work must not be done on the OMR answer-sheet. Free space provided in the question booklet should only

be used for this-purpose.

Fﬁﬁmwmmmmwaﬁm% lwqﬂmgﬁaﬁrﬁmmGﬁWWﬁww% S R e
| B |

“Bar Code” printed on the Answer Sheet must not be tampéred or in any way marked; otherwise the candidature
will be rejected.

, m—mwa&‘ww’W%ﬂ%mwﬁmﬁmﬁwm&mﬁfﬂ%mqfaﬁ#aﬂwfa@aﬁ%%m
et it sefgart wE W & Al | ‘

Candidate must not leave any mark of identification on any part of the Answer Sheet except Part-I of the OMR
Answer Sheet as this may lead to disqualification.
mma\‘mé-l%aﬁﬁaamwﬁmwwfmﬁmwﬁamaw&mwﬁ%mmaﬁwﬂ%
o sraveremr ST < ST W € | A .

- Forvenﬁcation of your handwriting, it is necessary to write the prescribed Text completely which is printed on the

back side of the Part-I of OMR answer-sheet and also put your signature on specified space in Hindi & English
otherwise your answer-sheet / candidature will be rejected.

SR wm%w-l%wﬁmmﬁﬁwmmﬁwm#mmwm
ﬁa"rmaﬁ#}ﬁﬁuﬁﬁamwﬁ |mﬁm%mwaﬁaﬁt lﬁmaﬁmﬁwmmm/aﬁﬁw
I QT W @ s )

In case you do not follow the instructions as given on the backside of OMR answer-sheet, your answer-sheet is
liable to be rejected for which you yourself will be fully responsible.

IR T FTH.AR. ¥ IR0 & 7S 901 R 72 rdeil oot et et e Wm—wr{{m\mw |

%ﬁﬁhmmﬁwﬁmﬁﬁl

16 : B1MBS

S



